MODEL NUMBER: FIXTURE TYPE: DATE: SCALE: FILE NUMBER: DRAWN BY: CHECKED BY:
BUS13 BUSRUN 3/30/09 AS NOTED Prod/Block/Bus/Installationinstruction /Bus 13—Install N.J.D. S.D.P. NO. REVISIONS DESCRIPTION B | DATE
PROJECT NAVE: WEIGHT: FIXTURE DESCRIPTION:
INSTALL INSTRUCTIONS FOR DEEP RECESSED BUSRUN
\1/ SECTION VIEW OF BUSRUN SCALE: 1/2"=1" \2 / RECESSED JOINING DETAIL N.T.S.

1/4-20 THREADED ROD (BY OTHERS)

U.L. LABEL WILL BE FACTORY APPLIED

TO THIS SIDE (HOT #1) ON ALL STRAIGHT
SECTIONS OF BUSRUN. THIS WILL AID IN
PROPER ASSEMBLY ORIENTATION.

1/4-20 COUPLING NUT

10-32 HEX HEAD SCREW
QTY. (2) PROVIDED

CABLE THREADED ROD
SUPPORT
B—HHO-CK250-01

(ordered separately)

1" FENDER WASHER ”
CLIP FOR USE WITH
* CEILING SYSTEM ONLY _\

GROUND ALIGNMENT BAR

1/4" SPLIT LOCKWASHER

GROUND ALIGNMENT BAR SINGLE CIRCUIT

DEEP BUSRUN
SELF DRILLING TRUSS
HEAD SCREWS (BY OTHERS)

HAT CHANNEL
OR SIMILAR FRAMING

/ SUPPORT (BY OTHERS)

COPPER BUSBAR
(NOT USED FOR
NON—ELECTRICAL
CONNECTIONS

N b % 5/8" DRY;IALL < % PLAST'C COVER
Cat e, (I li 1@ omeRs) <,
3/4 120 S SKIM COAT OF .
* /4 [20] HOTH " DURABOND OR SIMILAR NOTES:
3/4 [19] NEUTRAL  \ATERIAL
I . 1. ALL BUSRUN IS SINGLE CIRCUIT, 120V, DEEP RECESSED MOUNTED (MOUNTED BY OTHERS).
-~ 3 9/16 [90] —— 2. THIS INSTALLATION IS RECESS MOUNTED DEEP BUSRUN USING THE MOUNTING FLANGE AND

SCALE: 1/2"=1"

\3/ TOP FEED DETAIL

(2) #12 AWG WIRES AND (1) #12 AWG

ENDCAP J/[
s/ 9] —|

L~

LENGTH PER ORDER

F:\Product\BLOCKS\BUSRUN\InstallInstructions\BUS13-INSTALL.dwg

Litelab Corp. 251 Elm Street Buffalo, NY 14203 (716) 856—4491 (716) 856—4300 fax: (716) 856-0156

CABLE/THREADED ROD SUPPORTS. (MOUNTING HARDWARE BY OTHERS). FASTEN BUSRUN TO
CEILING STRUCTURE THROUGH THE MOUNTING FLANGE NO MORE THAN 2'-0" LINEAR APART.
FASTEN HANGERS TO ABOVE STRUCTURE NO MORE THAN 4'-0" 0.C. AND WITHIN 12" OF THE

THE FACTORY. CONTRACTOR WIRES CANNOT BE CONNECTED ON SITE AT THE END
OF THE BUSRUN. BUSRUN WIRES ARE TO BE RUN THROUGH CONDUIT SUPPLIED BY
THE INSTALLING CONTRACTOR ACCORDING TO NATIONAL AND LOCAL CODES.
LITELAB WILL PROVIDE A CUSTOM WHIP LENGTH PER ORDER.

AR CROUND. FOR 2oAmE LOAG 5 BEGINNING AND END OF EACH RUN. MAXIMUM LOAD NOT TO EXCEED 30 Ibs. PER LINEAR FOOT.
© 3. INSTALLATION SHALL BE IN ACCORDANCE WITH THE NATIONAL ELECTRICAL CODE ARTICLE #368
< AND ANY APPLICABLE LOCAL CODES.

- 4. MAXIMUM RATING PER FEED POINT IS 20 AMPS, 5000 A..C.. 300 VOLTS AC ONLY.
CONDUIT' COUPLER ! RECESSED MOUNTED
FOR 1/2" NPT ~ SINGLE CIRCUIT - 5. BUSRUN IS TO BE INSTALLED IN DRY LOCATIONS ONLY.
6. FINISH OF BUSRUN: UNFINISHED (UF)
7. AS NOTED IN SECTION VIEWS, THE HOTS AND THE NEUTRALS INSIDE THE BUSRUN HOUSING ARE
= N\ ] NOT SYMMETRICAL. EACH STRAIGHT SECTION OF BUSRUN MUST BE ORIENTATED TO ALIGN ITS
) = HOT #1 TO THE HOT #1 ON THE CONNECTOR IT MOUNTS TO.
FEED DIRECTION / / ©, U U

, / Q 8. ALL BUSRUN FEEDS CONTAIN STANDARD WHIP OF QTY. (3) #12AWG WIRES BUILT IN AT
M
K\ N
|




